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PROBLEM 1. Following are the Balance Sheets of Al

(AMALGAMATION]

td. and B Ltd. as at 31st March,
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2017:-
A L.
I. Equity and Liabilities 0
(1) Shareholders’ Funds
(@) Share Capital :
Equity Share Capital (< 10 each) 24,000
12% Preference Shares Capital
(< 10 each) -
: (b) Reserves and Surplus
General Reserve (RP. R
Statutory Reserye 1.170
Surplus Account 1,689
(2) Non-current Liabilities
13% Debentures -
(3) Current Liabilities 47,11 |
i Total 45 000
I11. Assels
(1) Non-current Assels
Fixed Assets A3 000
(2) Current Assets 12,000
Total 45,000
On Ist April, 2017 A takes over B Ltd, on the following lerms !
(i) A Ltd. will issue 10,50,000 cquity shares of T 10 each at par to the equity shurcholiders of
B Ltd.

(ii) A Ltd. will issue 33,000 12

sharcholders of B Ltd.

2¢; preference shares of ? 100 each al par to the preference

sl -.'.."'-_.' 1._:5.
Scanned by T

apScanner



-v_':-: =3

Ay
s
o
=
p
L

o _,II'. ¢
3 AT

LAL - | , AMALGAMATION (AS-14) A

(9
R i - - = .1

i j ey

(i) Debentures of 10140, will be converted tnto equal number of 14% debentures of the =
same denominntion, ,

You ave informed tha the stubutory veserves of If 1Lid, ure o be maintained for {wo more
yeurs, You are required (o show the Balance Sheet of A Lid, immediately after the above !

mentioned scheme of sinalgamation has been implemented assuming that : [
() the malgnmation Is in the nature of merger and w
(B) the smmlgamntion is in the nature of purchase, . g o
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